HPE_CIEO2-Zapfen-Empfindlichkeit Y a(A)=1
[1(N)=B1X1(A)+B12y1(\)+B1az1(M)

Blj 0,3897 0 ,68_89 -0,0786570
2,0122,0 2 E00:5T 4(A)=21 ,37

(x, yq=(0,3332,0,3332)

400 500 600 700
WellenlangeA /nm

HPE_CIEO2-Zapfen-Empfindlichkeit yy,a4(A)=1

M1 (A)=B21X1(A\)+B22y 1(A)+B23z1(A)

sz -0,22981,1834 0,046A=540
2,0£22,0 2 E00:514(A)=21 ,37

(x, yy=(0,3332,0,3332)
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HPE_CIEO2-Zapfen-Empfindlichkeit Y5 (A)=1
$1(N=B31X1(A)+B32y1(A)+B33z1(A)

Bs; 0,000 0,000 1,000 A=430
2,0122,0 2 E00:55,(\)=21 ,37

(x, yy=(0 3332, 0,3332)
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HPE_CIEO2-Zapfen-Empfindlichkeit Yg,,=100
TsM)=B11XsN\)+B1Ys(A)+B13Z4(A)

By 10,3897 0,6889 -0 ,0786570
2,0722,0 2 E00:ZI ¢(A)=100,00

(x, y)=(0 ,3333, 0,3333)
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